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1001 |BTHETH £IRX 1,200,000 0] 36[xOxA x |O[x [x | 10] o] 8
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1600| R EFIE =IRX 3,720,000 o] 58/O0x x |[OA X x 15 13 o
1601| K2 RIRX 1,164,000 0| 42 AO[x[x] of ol 10|BECLICFEREDEH DD
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[==F 3 H - = e
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2001 [{8FH FIRX 1,800,000 o] 36 x |A[x [x ol ol 3
2100k 2 IR SRX 3,960,000 0 4o[xOxx[|xAxx[x[A[x x| 5] 3] AZXSMPLELDITEEEHD
2101 |IKETH FIRX 2,160,000 o] 42 o] of o
2200| g% 2 FIRX 5,400,000 0] 78[xAxx[xAxx[x [A]x[x 3[ 3] 3
2201 | 5%t h FIRX 1,800,000 0] 53[x©0© x |© |© |© | 40] o] 40/ TILThOEA
2300|5018 kX 6,000,000 o] 106[xAxx[xAxx[x [A]x [x 3| 3] 3
2301 | B EETH  |[RIRX 6,600,000 0 IBIxAx x[xAx x[x [A]x [x 3| 3] 3
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code KA (THHR [fay |REM EBRIOVER OZFR B % 2 E x| |
-~ nn mn % %H ;;EE tl:l—T **, *;i*l **I
2400 =F 2 23R>%-Z B | 1,800,000 | 2,160,000 | 51[xOx x [xOx x[x [O [x [x 5] 5| 5|04A—LICHEREEEREH S
2401 [;EH =ik 600,000 0 32 of] of o
] ) e E =® 4 2R ER &R 2 AVE SR
2500(;% 8 18 £k -3% 8 | 1,800,000 | 1,800,000 | 47|00 x x [OOxx |O (O |x |[x | 18] 18] 15 'E%*E“ IR B - R S AR
2501 | KT ZIRX 840,000 0] 38[x©Ox x [©]0 [x [ 30] 0] 0[4 T TOEA
- 4 = > — I -
2600|Z#EF |2 Rx-38 | 1200000 | 4800000 | 62|xAxx|xAAx|x |alOo|x | 3| sl 15 ‘C%”?;ﬁéﬁ@%ﬁ@_ BB
NS ~ -
2601 |5 #H &Rk-EE 1,680,000 | 4,800,000 | 69 XA XX |x |A[x [x o] 3] 3
2700| KB FF LR35 8 | 1,200,000 | 5,880,000 | 112 x Ax x [x Ax x [x |A [x |x 3] 3] 3|&iREEELEL
2701| XFr =R 7,200,000 0 89X X X X [ X X X x | X |x |x [x o[ o] o|—=ikIE. IRZERHH-ENEFEO
2800 E[E B £3R% -8 | 2,400,000 | 3,600,000 B[AOx x [AAxx [ATO[x [x | 10] 8] 10[;F8hRsE - URZ AN ER — K
2801 | FH EY 4,560,000 0] 72l0xxx|Axx©|A[x [x |©] 10| 15| 15|—&pIFINZERHA
2802|FE I TH =K 1,800,000 0 45 xAxO[x [ATx AT of 8l 5
2803|FE= RIEK 1,800,000 0] 45 x [A[x |x| o] o 3|—#BuR3ZEAMO
2900 L=RE 2RX-ZE | 600,000 | 3000000 48[xAx x[xAx x[x [A[x [x 3 3] 3
2901|Z= B =R 960,000 o 44 x |A |[x [x o] o] 3
3000(FFRILIE  |RIRX-EE 720,000 | 2,880,000 46| X AX X [ XAX X [X [A X |X 3| 3| 3|IEEEBRESE LELHD
3001 (FFrUm [WIRX 2,040,000 0 42| x A x x x [A[x |x 3] o] 3
3100| B EVE 1 3,000,000 0] 38[xAxx[xAxx[x [A]x [x 3| 8| 3[—EIRIFUNZEAFO
3101| BEH IR 360,000 o 32[xAxx x [Alx O] 3] o] 8[fEBEHEIFFEIZEHNT
- = éi = Qn sjs e (' éi‘ =
3200(B#RIR  |&URK-HE | 360000 | 3240000 | 39 xOx xx |O|x [x | of s sER0BFLHMED, RIEAXCER
3201 ¥\ TTh RI&X 420,000 0 34 x [A [x |x of o] 3
3300 FE L E ZEE 4,200,000 0 56| x Ax x [xOx x [x [O[x [x 3] 5] 5|l TILTOES
3301|[@LLth =R 1,620,000 0 52[xOx x [xOx x [x |O[x |x 5/ 5| 5|1 TITOES
3400([LEE FiRX 4.200,000 0 70 OAxx|[O]A [x [x ol 13| 13
3401({[LE™H KR 4,080,000 0 60 X X x X [x x x x [x [x [x [x ol ol o
3500 LA E E 1] 4,200,000 0 53IxOx x | x[Ox x [x |[[O0]|x [x 5 5 5
3501{IlLhaTh =ik 360,000 0 30 of o] o
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FXE(—A|EEEMN B8 |0O1EE |02F g uin ﬁ g %1 %2 %3
#H(—AN|EmEE B = i3 i3 Rl e e
code JBEA \XHEXHR  |pry) T |y N R 2R R W
ot *. [=] &5

3600|fEEE £iRX-Z 8 [ 1,200,000 [ 1,800,000 | 42[xOx x [x Ax x[x [A[x [x 51 3] 3
3601|EE™ =8 840,000 o] 38 ol of o

N — A BEZH - 4 % 3
3700| & /IR SIRX 3,600,000 0| 45|0xxx|Oxxx|A|[x|x|x | 10 10| 5 ﬁzgggﬁﬁgﬁaﬁgg&gé EE
3701 | & B8 1,560,000 o] 40[xOx x 5] o] 0O
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